BcTaBuTb NponyLlieHHbIE CNoBa:

Jlocapucmom yucna b

a, YmobsI rnosy4yums 4ucrio .....

BO3BeCTU, OCHOBAHUIO, MNOKa3aTellb

—



CBoucrsa jjorapupmMoB
a>0,b>0,c>0, c#£1

logal logc(ab)
logua b
logca + logch nlog b
logca - logcb 0
logab 1

a
log b" logc(a/b)




CBoucrsa jjorapupmMoB
a>0,b>0,c>0, c#£1

logal

lOgaa ™. \/ b
logca + logch \‘ loo b
/’\ n Oga

logca - logcb /' ' 0
1984 \/\ 1

log b" logc(a/b)




lg 2 +1g 5 %

Log, 7 - 0,5 log, 49

Log , 1/16

Log, 64 +log, 9  =i.F

L —



Llg2 +1g5

Llog , 1/16 =4

~_Log, 64 + log, 9%%




Hauau omuoku

1) log .25 =5, Tak KaK 55 =25

2) log , (1/16) = 2, Tak kak 4 > = 1/16

3) log g, 9=9, Tak kak 81 =9-9

4) 0,3 2109036 = () 31090362 = 31090312 = 12

5) log ,,5+log,,2=log  (5"2)=log,,7

6) log,,54 —log . .2=log,(54-2) =log ,, 52
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